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MATH 108 Quiz #1 Fall 2017 Name

Directions: Answer each question as completely as possible. Show all work for credit. Good
luck.

1. Demonstrate that the decimal 3.612 is rational by rewriting it as an integer divided by another
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2. Simplify each of the exponential expressions as completely as possible. Write all answers such
that there are no negative exponents.
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3. Simplify each of the radical expressions as completely as possible. Combine like terms where
possible.
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Directions: Answer each question as completely as possible. Show all work for credit. Good
luck.

MATH 108 Quiz #2 Fall 2017 Name

1. Multiply each of the following expressions. Combine like terms where possible.
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2. Factor each of the following expressions completely. ZXY @)(' ( Sx— ‘F
a) 12x3y — 22x%y + 8xy = 2){\/ (.6,)(2—- I 1> g 4\ = (3 ¥~Lﬂ

= '2_\,(\( (b\c?_ —-_~8¥ -37'- =+ l_l(\
— zyy[(@xl~8><)——{C3x~LF)j
b)@x3+1;2x9féx-k2?) - L}\L? (x & \3) — @.Cx-\-g\
| = (xeD (4x*-F) |
=[G D

¢) 125x6 + 27y° [,

= Ea 3y (25t —\Swy ‘rﬂYﬂ




3. Combine the rational expressions. Write your answer in simplest form. Be sure to specify any
restrictions on the value of the variable. \
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4. Solve each of the following equations for x.
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i. Solve each of the following quadratic equations for x.
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